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P1/19

*1
*1 *1
C /v () m 4 C 7y () m
(t/y) Nm? (t/y) Nm?
*1 a b d e=b/*2 | f= *3 | g=Fx*4 a b d e=b/*2 | f=ex*3" g=fx*4
2| 2,260 | 1,130 | 2,483 | 1242 | 31.63| 28,002 | 7,121 2| 2,260 | 1,130 | 2,484 | 1,242 | 31.63 | 28,002 | 7,121
74| 4,531 61 | 10,849 | 147 | 63.42 | 56,127 | 14,273 17| 1,198 70 | 2,504 147 | 16.77 | 14,841 | 3,774
424 | 1,080 3| 8,480 20| 15.12 | 13,381 | 3,403 33 84 24 660 20 1.18 | 1,041 265
500 | 7,871 16 | 21,813 43 | 110.17 | 97,510 | 24,797 52| 3,542 68 | 5,648 109 | 49.58 | 43,884 | 11.160
(B/A)x100 =(%) 10% | 45.0% | 158.1% | 22.9% | 253.5% | 45.0% | 45.0% | 45.0%
*1 () 2,003
*2 71.44  /m*
*3 ( : 28,002t/y)+(  :56,127t/y)+(  :13,381t/y) *3° 8.85 g/m?
*4 0.2543 = ( 22.4mol/88.1 )
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3. V OCAEHEH 3 = hmass ‘s 3 P 3/19

[FEfER . HAER] O iER %] (FEFD kFE1) o R BR B ARREREAWIEAT
T ROV O CHEHHHEE
No H H KAEZE | P | DMEE | AFF H H KAEZE | P | IMEE | AFF kS
* 5 FEBE (EM) | 980-~ | 21-330 | 204 @ | A 7,121 | 14,274 | 3,403 | 24, 798
1300 (FNm?/y )
O * eEEH (L ) | 1,100 | 21-750 | 20471 @ | 1000ppm FRPER & | 71.21 | 142.74 | 34.03 | 247.98 _
@ | * 3% (+1) 2141 33 424 500 (fBNm>/y )
@ | FEWSE (5 ) 0] 1 3 1 534
@ 3 0 %HITHHER & 21.28 | 42.83 | 10.21 | 74.40 | @x30%
B | ERIEE 5x10 | 4 4x3 | 2x424 | 1,508 (f& Nm®/y)
L4 K74 2x10 | 2 2x3 | 1x424 744
= T 2x10 | 2 2x3 | 1x424 744 3 0% —HE mHEH | 39,287 | 11,927 | 1,879 | 53,002 | #5311/ ®
e - =% (FNm*/E)
@ & (B 180 | 328 792 1,696 | 2,996
@] 30% H5x M | 163.70 | 40.70 7.82 | 221.22 | @/24 =1
® | gER 0%k (F&PT) 180 | 1,120 | 1,696 | 2,996 725 % ( Nm®/min)
il E R D GR) 60 420 848 | 1,328
30% i BiEE | 27.30 8. 28 1.30 | 36.88 1 @/600%2
® |7 Lm (M) 2,260 | 4,531 | 1,080 | 7,871 filik& (HFM)
AR A E (fEH) 1,017 | 2,039 432 | 3.488
@] 30%PERIEEEE ] 14.85 | 29.73 6.57 | 51.15
@ | ¥ HAfh (H/m®) 71. 44 (&)
RS (f&m”® 31.64 | 63.42 | 15.12 | 110.17 30% LEmeie | 14.85 ] 29.73 6.57 | 51.15] @®x B
BEA (f&H)
@l voc fEHE (g¢/m?) 8.85
30% o= 0. 89 1.79 0. 39 3.07 | ®x *3
VOC #f#F HE (ton/y) | 28,002 | 56,127 | 13,381 | 97,510 =3 S (f&H)
(FEED *1 F1) : BERrER 24 J554>=250H x16hx60 %4y (A0 %3 F1) - { (1,500 /hx250dx16h) =600 [ /v}
(FEFD *2 HI) @ HESZE(ERE /)=600Nm™/ 43




[ etk picd e T A8 X X O T FfFERBHHea VvV O C HEHY =) B3 — 2 — 1) P 4/19
No HH KA rhA ¥ NE 2 &t
v [Egﬁ]’g%}éu% HE FIT %

V) 5 Ak A HER 1 ks
Py e xhylcsonl I I v 1 I R I s H_Eﬁﬂ et |1, 5084
v | @ R LI LT L L L | sxioxe= LI LT LT L | axsx33=396 2x424=
Tk 100 4x1x41=164 848
Aic 560
& 94 73%-4-:DL ] DWH
¥ SLH5) 5 LR — 7445
T X7 MERE LT DL DL o HEHi A DL DL o HEH O —DL PL o e A
— T IR RS 2x10x2= 40 2x3x33=198 1x424=
2x1x41= 82 424
280 P
(#FH73%-4-:PL ) 1x424= 7445
T h —EEE S o HEH A 424
7 MERE L C—& —PL PL o HEHI O —PL PL 2x3x33=198
FTIZ SRR 2x10x2=40 2x1x41= 82
280
® aat (5% 180 328 + 792 = 1,120 1, 696 2,996
@ | FHEITIAE (10FZFpr x 2fh) = 20855k (3%x 33)+(1x 41)=140 L% (155x4241t) =424 LS5 584HIL p.
BEH O R5E CGR) (10FF2PT x 3%41 x 2¢48) = 60 (3x3%%1x33 1)+ (1x3x41) =420 (1x424 x 2 R4 = 848 1, 3285%
297 123
Fer 1 ERI 31.635 (2,26008F/71.44M/m®) | 63.424 (4,531/5M/71.441 ) 15. 118(1, 080f& M /71. 44 ) 110. 17
EPER KT 4 :50% 15.818  (31. 63f&m>x50% ) | 31.712 (63.42 x50% ) 7.559(15. 12x 50% ) 55. 09
A :50% 15.818 (31. 63{Em*x50% ) | 31.712 (63.42 x50% ) 7.559(15. 12x 50% ) 55. 09
@| ( &= n®/y) HFF 63.271 126. 848 30. 236 220. 35
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VoC

D 1 2 1 2
)
[€)) ( ppm ) 400-1000 | 50 800
(@) (Nm*/min) 220 250
A)
a 26 / 7 /
b 310 / 31/
c 91.6 % 77.4 %
c=[(a/b)-1x100 ]
O]
(ppm) 0 1,000 |0 800
6,024 H/ 6.024 H/
®)

Nol

No2

No3

No4

No5

vVoC

Nol

No2




P 6/19

1,000 2 + (101 400 74 )+ (20 424 ) 500
1 * 7,871 * - 2,003.3
(¢)) : 144,000 N m3/y
2 m*) 110.17 (7,871 / 71.44  /n® ) :144,000=600Nm>/minx240,000min
( 110.2+ 55.09+ 55.09)
3 ( A)) 97,510 ( 42,971+ 38,563+ 15,976 | (2) 230 %
1) 1 74.40  Nm® /
4 C y ) 32.55 (97,510t/2.996 ) 2) : 53,092  Nm®/
3) :221.22 Nm3/min
5 Nm=/y) 24,798 (97,510x0.2543= 88.1x22_4mol ) 4) : 0.3688(221.22/600m®
5) : 36.88 (0.369x1
6| VvoC (1000ppm/y) 247.98 (24,798 Nm°x1,000=100 /1000) 6) - 51.15
( :14.85 - -129.73+ :6.57)
7 74.40 ( 24,798.00 Nm3x 30% ) 7 3.07 (51.15x600
( Nm/y)
®3)
8 53,092 ( 39,287+ 11,927+ 1,878) 1) 1,328 ( 60 + 420 +848 )
( Nmm® ) 2) 1398.4 (1,328x30% )
3) 1 23.9 (398.4  x600
9 221.22 ( 53,092 Nm®/ 240,000min )
(Nm3/ min) (250dx16hx60min) 4
1) ( 51.15 398.4
10 36.88 1 x0.2965=221.22/600Nm>/min) 2) ( ) 12.79 99.6
( ) 3) ( ) 3.07 23.9
4) ( ) 7,871
11 51.15 ( 14.85+ 29.73+ 6.57 ) 5) ( ) 3,488(44.30%)
( ) 6) /() - 0.65 5.06
7) /(%) - 1.47 11.42
12 3.07 (1,500 /hX16x250)=600 x51.15 8) /(%) - 0.04 0.30
( ) 9) /7 ) - 0.09 0.69
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2003
30%
/ () ¢ ) (%) « ) ly m2 | (t/y) ( Nm®)
980 1300 | 2,483 2| 2,260 |1,130.0 | 45.0| 1,017 508.5 173.8 700 31.631 28,002 | 71.21| 21.36
21 330 | 10,849 741 4.531 61.2 | 45.0| 2,039 27.6 618.5 570 63.42 | 56,127 | 142.74 | 42.83
20 8,480 | 424 ] 1,080 2.5 140.0 432 1.0 339.2 400 15.12] 13,381 | 34.03| 10.21
— 21,812 500| 7,871 15.6 | 44.3] 3,488 7.0]1,161.3 |532.4 | 110.17] 97,510 | 247.98 | 74.40
74.40 Nm® / 1. 1,328 ( 60+ 420+ 848)
31,000 Nm®/ (74.40 Nm3/24 ) 2. (30%) 398 (1,328x30% )
51.7 (31,000Nm®/min/600Nm>/min) | 3. 398 (398 x 1 )
51.7 GL.7XL /) 4.
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20 140 424 584
20 140 212 372
20 140 212 372 AC

60 420 848 | 1328

¢ ) ¢ )
( + )/ ) x100 ( + )
0.696 14.85 +0.89 2,260 x100 1.548  (14.85 + 0.89 1,017 ) x100
0.696 (29.73 +1.79 4,531 x100 1.546  (29.73 + 1.79 2,039 ) x100
0.644 ( 6.57 +0.39 1,080 x100 1.611  ( 6.57 + 0.39 432 ) x100
0.689 51.15 +3.07 7,871 x100 1.554  (51.15 + 3.07 3,488 ) x100
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> 0.69%
© 1.55%

5.36%
212.09%

« ) « D

M ( + o ( + )
0.844 = ( 18.0+1.08 2,260 ) x100 1.912 = ( 18.0 +1.08/ 1,017  x100
2.948 = ( 126.0+7.56 4,531 ) x100 6.550 = (126.0 +7.56/ 2,039 ) x100
24.926 = ( 254.0+15.2 1,080 ) x100 62.315 = (254.0.+15.2 / 432  x100
5.358 = ( 398.0+23.84/7,871  x100 12.094 = (398.0 ++23.84/ 3.488  x100

m—




P12/19

1-1. — 113.1 1,508 X 5 x30%= 2,262 x 500
1-2. — 22.6 1,508 x 1 x30%= 452 x 500
1-3. — 90.4 1,508 X x30%= 452 x 2,000
1-2.+ 1-3 — 113.0
- 22 744 x30% = 223.2 x1,000
- 67 = 223.2 x3,000
22 744 x 30% =223.2 x1,000

112 = 223.2 x5,000




P13/19

1 22.79 1 20.43 7.94 174 o112 o 112
0 1.37 o 1.28 0.47 : 10 7 R
1 24.16 : 21.66 8.41 . 184 o 119 o 119
I I
VoC ( 30%
a b c d e f g h
m* syl C ) | t/y) Nm®/
Nm=/mi ly
110.17 | 1,508 584 | 42,971 | 73.58 | 55.48 | 22.79 1.37 20| 140 | 424 | 584 6 42 | 126 | 174 10.44
55.09 744 372 | 38,563 | 103.66 | 117.18 | 20.43 1.23 20| 140 | 212| 372 6 42 64| 112 6.72
55.09 744 372 | 15,976 | 42.95| 48.56 7.93 0.47 20| 140 | 212| 372 6 42 64| 112 6.72
220.35| 2,996 | 1,328 | 97,510 | 73.43]221.22| 51.15 3.07 60 | 420 | 848 1328 18| 126 | 255| 398| 23.88




P14/19

5 —1 2 —1 2 —1 60 (10 x3 x2 )
4 —1 2 —1 2 —1 420 (3 x2 x33 )+(1 x3 x41)

2 —1 1 —1 1 —1 848 (1 x2 x424 )

51.15 14.85 29.73 6.57 398.40 18.00 | 126.00 | 254.0

12.79 3.71 7.43 1.64 99.60 4.50 31.50 63.5

3.07 1.37 1.23 0.47 23.90 1.08 7.56 15.2

7,871.00 |2,260.0 |4,531.0 |1,080.0 | 7,871.00 | 2,260.0 | 4,531.0| 1,080.0

3,488.00 | 1,017.0 |2,039.0 432.0 | 3,488.00 | 1,017.0| 2,039.0 432.0

= x100 (%) 0.65 0.66 0.66 0.61 5.06 0.80 2.78 23.52

= x100 (%) 1.47 1.46 1.46 1.52 11.42 1.77 6.18 58.80

= x100 (%) 0.04 0.06 0.03 0.04 0.30 0.05 0.17 1.41

= x100 (%) 0.09 0.13 0.06 0.11 0.69 0.11 0.37 3.52
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(12

5.06 %

424

500

11.42%

(1,000
86%%

24%

15%

(13

400

74
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P16/19

ppm

Nm3/ min

Nm® (t)/88.1 ( ) x22.4(1/mol
8.859/m> (1,2

w h /m3

m= 1,3)2: m

z 7,871/ 71.44  /m®)
11,018 m? x8.85g/m* )
N ( 97,510 t /88.1x22.4mol)




P17/19

(g/m%)
a b c d
(%) c=axb |d=b-c *e  ( g/m?)

() 35 20(4cx50)x30%=69 2.10 3.90

(A) 30 10.0 3.00 7.00

(AC) 3 3.0 0.09 2.91

(i+A) 32.5 16.0 5.10 10.90

(i+Ac) 19.0 9.0 2.19 6.81 6.81
26.3 12.5 3.65 8.85 *9.29
¢ /m%) /) ( /m%)
m2
PET/CPP  12/504 : /n? (3.50x22.5)
200m/m 4 1m=/ [(100m/m x200m/m)x2]
| 30% S 90%)
—100m/m —| 39( ) 25  x90% = /n?

110.25 % = 78.75/71.44x100) 11%
20 35 35 10 100
1,574 2,755 2.755 787 7.871
( m 10.49 27.55 45.91 26.23 110.18
m) 150 100 60 30 71.44
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2,003.3
() ) | C )| € my) /) / VoC
a b c=b/a d=b/ e=dx8.82 | e/a( )
1,000 2 2,260 |1,130.00 3,163.49 27,902 | 1,395.10
21- 200 74 4,531 61.23 6,342.39 55,940 755.94
20 424 1,080 2.55 1,511.76 13,334 31.44
— 500 7,871 * 15.74 11,017.64 97,176 | * 194.35
( )
« )
a | (M) b c d=bxc e (%) (%) g= exf
2| 0.5] 2,483| 1242 700 173.8 | 2,260 | 28.72 | 1,130.00| 45 1,017 508.5
74 | 14.8 | 10,849 | 147 600 162.7 | 4,531 | 57.57 61.23 | 45 2,039 27.6
424 | 84.8| 8,480 20 400 339.2| 1,080 | 13.72 2.55| 40 432 1.0
500 | 100 | 21,812 | 43.6 1,161.3| 7,871 100.0 * 15.74 | 44.3 3,488 7.0
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0.5 1 5- 0.5 1 10 10

10,067 17,989 26,147 37,702 65,103

4,063 4,921 5,750 7,807 12,220

3,449 4,065 4,429 5,775 8,030

(%) 34.3 22.6 16.9 15.3 12.3

(%) 40.4 27,4 22.0 20.7 18.8

%) 84.9 82.6 77.0 74.0 65.7
h=e/a |1=g/a |j=d/a k=(i-j)
1,130.00 508.50 | 86.90 421.55
130.14 58.56 | 17.78 40.78

2.55 1.02 0.80 0.22 =

15.74 6.98 2.32 4.72

(

12002.8

48 .8%

3525 )




